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PROPERTY EMBIERlD& Mh@ TOWNSHIP

PERITH# ) DATE
DESIGNER NAME » ‘ : uueuss;
DESIGNER SIGMATURE:. - ; : DATE__

FIRE#

'WATER USE AFMNGES{CHEDK ALL THAT iFPl:-’Ij :
HUNHBIFIER '\C

GLQ+HES WASHIEB WATE‘SBFI’NER__@WR__
NUMBER OF amnm 2 TrE_|
WELL: DEEP (ﬁl‘ﬂ MDW ’}g_ m TANK&_ DRANFIELD

Fu;’w
A. ESTIMATED 200 mmw

L-INE §p

B.'SEPTIC TANK VOLUME . _- | GALLONS .
C. MINIMUM PUIMF TARK mﬁ GALLONS
€ les _

. C1.ALARMTYF'E i D 7 ST SEWAG

- SOILS OF | TYPEI  TPE1 TYE

2 300 ~%6 756

DDEPTHTORESTHIWNGLM’ER + 5 _FEET .3 - =
E. DEPTH OF SARD QN 1P opﬁﬁnes DGE_3 _PEET .
F. SOIL TEXTURE Slr 5 o . : o ™
G. PERGOLAWM_MI o w . m w
LLANDSLOPE [ % A R LW

ROCK LAYVER DIMENSIONS

J. (A)x0.83=_Z.5% U=SQFT .
K. SELECT ROGKLAYEBWIDTH __| O _FT.
L-LENGTH OF ROCKBED={§) + (K}=_L.>__FT.

ROCK YOLUME :

M. MULTIPLY ROCK AREABY RDOKDEPTHI(.I)x1Fl’-‘
_ LSO FTx1Fr=__. 250 GW.FT.

N. DIVIDE (M) BY 27= CU¥D.=_2sUCUFT+27= |0 cuvyp. |

O. MULTIPLY(N) _1 O _ x14= 1'-{ moFRocx

mmm
P. FOR TEXTURE, PERC. RATE, OR SOIL SIZING FACTOR
IN_(F) (G) OR () ABOVE, SELECT ABSORBTION WIDTH
RATIO FROM TABLE 3 - 2l
Q. MUan.YmaRmcu WIDTH RATIO.(P) BY ROCK
" LAYER'WIDTH ()= 2 (ol x \O = Z(, /7 FT.
ABSORBTION WIDTH :

-




~ SOILS CHARTS FOR BOTH PROPOSED AND ALTERNATE SITES

1 (PROPOSED) SOILS DATA

e ]
L

o r " pe ¥

] S R

. (;1,4,7 -
‘O\)’Z—-S_/j

Motling € 8"

1 (ALTERNATE) SOILS DATA

@ 5-)2-)l

2 (PRO_POSE)) SOILS DATA

2{ALTERNATE) SOILS DATA

ADDITIONAL SOIL BORINGS MAY BE REQUIRED .



MINIMUM MOUND SIZE

1. Subtract rock layer width from absorption width
to obtain minimum downslope berm toe

Slope:

Clean Sand _A |

10 f- 2Ll ft= | (s feet atural Soil _e(Sy
2. Detennine depth of clean sand fill at upslope Upslope Sand Rocks b:i‘:;id“\ Dewnslope Sand
edge of rock layer: ' 2. e vy
Separation 3' - s A= 2. 5/ feef S upsgof&m Rock Width . Down Slope i
j—— _2.2 ‘ —- & T2 )|

3. Add depth of clean sand for separation (2)
at upslope edge, depth of rock layer (1 ft) to depth of cover

(1 ft) to find the mound height at upslope edge of rock layer:

2 fi+iIfi+lft= (oY feet
4. Enter table with landslope and upslope berm ratio.
Select berm multiplier ;

G 5214

ayer is 10 feet wide, land slo,
q = ? v {I:’ hcig}:nﬁailauw pe of rock layeris 3.0+ 10 x 0.6 = 3.6 fi and Juw nslope herm wid

5. .Multiply berm multiplier by upslope mound Sand Upslope Width
height to find lﬂa‘slopc berm “idth': g Sand ; - saud -
S x =__ 2o feet Upslope widih [Po3s Eoa, Rockbed ) Upslgpe Width
6. Multiply rock layer width (K) by landslope to \'ﬂ e 6?3;53?%;:?'&;%%%33@:; : : =%
_ determine drop in elevation: S e
0O x (O %=~100=__ ) feet z|- . .
7. Add depth of clean sand for slope difference (6) & ' Dsoﬁ::sldope width L0
at downslope edge to the mound height at the upslope ™3 _ '
edge of rock layer (3) to find the downslope height: & ’ b
‘S fl + r) ﬂ - q’ i'eet sa,hJ Total Length LO 2
8. Enter table with landslope and dpwnslope berm ratio.
Select berm multiplier of "F :
9. Multiply berm multiplier by downslope mound height
to get downslope berm width:
= x4 = LD feet
10. Compare the values of Step (1) 21 and y BERM SLOPE MULTIPLIERS
Step(9)___ 21T . Select the greater of the two _
values as the downslope berm width: 7 D  feet Land DOWNSLOPE UPSLOPE
11. Total mound width is the sum of upslope berm (5):  |m'% i e A B
width plus rock layer width (K) plus downslope berm
s . kA | 41 3:1 [} 7:1 3 :1 51 &l 11 51
w?-?’tg(?)h + 1O fi+ 2€ A= S C} feet é; @ @ 50 oo 70 |30 40/ 50 60 710 8%
12 Total mound length is the sum of upslope berm width E§0m 5 536 [ TRQES] SR (0N iSO
(5) plus rock laye]’ length (L) plus upslope berm 2 3.19 435 556 68> 314|328 370 4354 536 614 6w
by 3 330 454 S8 732 886 | 275 357 435 s0s 579 64
width (5): — ) 4 | 341 476 625 789 971 | 268 345 417 454 546 oMW
2.0 fi+_2S i+ 20 fi= (o S feet 5 | 351 500 667 857 1077[261 333 400 462 519 ST
6 366 526 794 938 1207 2S5%F 323 385 441 49 54l
) 7 | 38 55 769 1033 1373|248 342 370 433 4 SK
Fin: al Cover Dimensiou I 8 2095 S8 8233 1S4 1595 ] 242 3@ 357 A0E 44y 454
9 4.1t 25 909 )30 189- | 13o 29 345 3% 430 ol
) h 10 439 6.67 1000 1500 3333} 23F 28 333 3T A2 L
1t 448 7TH4 1M 1765 3043 | 226 2798 323 el CIC L 4
SO. X (0 S 12 469 769 1250 2143 4335[ 221 AW 3T 349 38 308
Note: The product of the muluplicr and the height results in the honzontal distence fv where th
berm meets the original land slope. Eun:l-plzz Hzight atupper e_dg: of rovk layer 1s 3.0 ¥eer. roci
is 6% and berm slope rativ is 4: 1. Upslope berm waddy 15 3.23 »



MOUND CROSS-SECTION

'Z 2 PERCENT SLOPE OF

ORIGINAL SOIL

GEOTEXTILE CLOTH

—=

10 pr.y 2877, s12E OF ROCKBED 20 Fr, g S __ PT.SIZE OF SANDE

+4 INCHES OF TOPSOIL FOR
‘GRASS COVER

_ 14 INCHES OF SANDY LOAM Sc

TAPERING TO g8 INCHES

—y

®) @) O
9" ROCK BELOW DISTRIBUTION PIPE
£~ Segh tnonrs OF SAND
ORIGINAL GRADE %
ROUGHT:
ENED SOIL SuRpagy
k;_. L0, FEET kg_n 1O pEer

UPSLOPE SAND WIDTH WIDTH OoF ROCKBED

LT FEET

FEET
UPSLOPE COVER' WIDTH

;'g

5 7:S'9~—\L7 .

WIDTH OF ROCK

—

-~

\

22 _ PEET
DOWNSLOPE SAND WIDTH

ELZ» FEET
DOWNSLOPE COVER WIDTH

+



_~ PUMP SELECTION PROCEDURE
A. Determine pump capacity
Gravity distribution ’
1. Minimum is 10 GPM
2. Maximum is 45 GPM
Pressure Distribution
3. a. Select number of perforatcd laterals > _ 5

b. Select perforation spacing ,5 ft
c. Subtract 2 ft from rock layer lcngth

2S t2= 7.3 feet(Lugh glatenls )
ROCK LAYER LENGTH
d. Determine the number of spaces belween perfs:
23 / 2 = spaces
(length of lateral) / (perf. spacing)
e. 8 spaces+1 = erforations per lateral

£ Multiply perforations per lateral by number of laterals

to get total number of perforations: .
< PR S Ay
(perfs/lateral) x  (laterals) = (perforations)

o

g 27 X _,74 2/ GPM
(Perforations) x (gpm/perfs)

SELECTED PUMP CAPACITY 2.0 GPM

B. Determine head requirements:
1. Elevation difference beteween pump & point of discharge:

feet
2. If pumping to a pressure distribution system, add 5 feet;
for gravity add zero: feet

3. Friction Loss .

a. Enter friction loss tablc with GPM and pipe diameter.

Read friction loss in feet per 100 fi in table.
FlL. = @ « 73 /100 of pipe

b. Determine total pipe length from pump to discharge point.

Add 25% to pipe length for fitting loss.
‘ length x 1.25 ;S ], 8 feet.

c. Calculate total friction loss by multiplying friction loss

in 100 fi. of pipe by equivalent pipe length (B):
Total frictionloss=_+ 78 x_22.5 /100=___ 27 ezt

4. Total head required is the sum of the elevation difference,
special head requirements and total friction loss:

IO+ S +.27 rtoraLmeap 15,2 7

1 2) 3o
SELECT A PUMP TO DELIVER AT LEAST 2.5 20 crMm

WITH AT LEAST > [ 2 ZFEET OF TOTAL

HEAD.

If laterals are connected to a header pipe in a pressure system,
select the minimum size lateral diameter; enter the table with
perforation spacing and the number of perforations per lateral.

Select minimum size of lateral \ (/ e .
For a center manifold system the values will be 2 of above.

.@5_)94&3

Perforation Discharges in GPM

Head Perforation diameter
(feet) (inches)

1/32 1/4
1.0a 0.56 0.74
1.5 0.69 0.90
2.0b - 0.80 1.04

a. Use 1.0 foot single homes

b. Use 2.0 feet for anything else

FRICTION LOSS IN PLASTIC PIPE

Flow 15" 2" 3"
Rate
GPM

— T

(20) 241 Co73 ) o011
25 373 110 0.16
30 523 155 0.23
35 6.96  2.06 0.30
40 891 264 0.39
45 1107 328 0.48
50 1346 3.99 0.58
55 4.76 0.70
60 560 082
65 6.48 0.95
70 7.44 1.09

Max. No. of 1/4" perfs
per lateral. (10%var)

Perforation 1 1 2"
spacing. /4" 12"
(feet)

2.5 feet 14 18 28
3.0 feet 13 17 26
3.3 feet 12 16 25
4.0 feet 11 15 23
5.0 feet 10 14 22
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